- luid d
MILLER) DS 15 oszoriuiaend

OPERATORS
MANUAL







ENGLISH

Introduction

Thank you for purchasing the Miller DS10/DS20 Fluid Head. The Miller DS10/DS20 Fluid Head is a professional
standard camera support product that offers stability, accuracy and durability. The robust design and construction
of the full fluid movement supported by precision ball bearings and quality finishes for long lasting performance.

Fluid head Setup

o o To level fluid head loosen ball level clamp nut and keep bubble inside bullseye of bubble level and tighten
clamp nut.

0 o o To mount the camera apply pan / tilt locks and loosen slide lock screw and pull camera plate whilst
pressing grey release knob. Fix the camera plate to the camera using the appropriate screw, spare screws can be
stored under the camera platform. With camera and plate attached insert assembly into rear of camera platform
until release knob engages the camera plate into the platform. Slide the camera position over the tilt axis of the
fluid head to approximate balanced location and tighten slide lock screw.

The Miller DS10/DS20 Fluid Head provides adjustment for Tilt and Pan drag control (Fig 3). Rotate clockwise to
engage friction resistance, anticlockwise to return to fluid action. NOTE: The fluid drag plate system has been
designed to suit most operating conditions. The friction drag adjustment should only be utilised when extra
resistance is required.

0 o With counterbalance selected in position 1 release tilt lock whilst holding pan handle and allow it to
tilt back or forward to see if the camera is balanced. Loosen slide lock screw and slide camera and plate in the
appropriate direction for a better balanced position then tighten slide lock screw and recheck camera balance
again. If camera is balanced but still falls backwards and forwards the select position 2 of counterbalance.

Options

e Ball level stud (13 mm) can be removed so head can be mounted to 3/8” screw flat base applications.

Storage and transport

Loosen pan / tilt locks also pan handle and clamp and adjust to side position.

Optional Accessories

1204  Camera Plate (inc. #493, 3/8" & 1/4" screws)

493 1/4" + Pin Adaptor

P0036 1/4" Camera Screw

PO037 3/8" Camera Screw

688 Standard Pan Handle

681 Standard Pan Handle assembly (inc. Handle Clamp)
P8238 Pan Handle Clamp

P7850 Clamp Nut



FRANCAIS

Introduction

Merci d’avoir acheté un Miller DS10/DS20 a téte fluide. Le Miller DS10/DS20 a téte fluide est un support d’appareil
photo de niveau professionnel offrant stabilité, précision et durabilité. La conception et la fabrication robustes du
dispositif de mouvement entierement fluide sont renforcées par des roulements a billes de précision et des finitions
de qualité pour assurer des performances durables.

Configuration de la téte fluide

o 0 Pour mettre la téte fluide a niveau, desserrez I'écrou de la bride du niveau a bulle, placez la bulle au centre
des délimitations et resserrez I'écrou de la bride.

o o o Pour mettre en place I'appareil photo, actionnez les verrous panoramiques/d’inclinaison, desserrez
la vis du verrou de glissiére et tirez la plaque de support de I'appareil photo tout en appuyant sur le bouton de
déverrouillage gris. Fixez 'appareil photo a la plaque de support a 'aide de la vis adaptée. Les vis non utilisées
peuvent étre rangées sous la plateforme de I'appareil photo. Une fois I'appareil photo fixé a la plaque de support,
insérez 'ensemble a I'arriére de la plateforme jusqu’a ce que le bouton de déverrouillage s’enclenche. Faites glisser
I'appareil photo sur I'axe d’inclinaison de la téte fluide jusqu’a obtenir une position d’équilibre approximative et
serrez la vis du verrou de glissiére.

Le Miller DS10/DS20 a téte fluide permet un ajustement pour les commandes de glissement Inclinaison et
Panoramique (Fig 3). Tourner dans le sens des aiguilles d’'une montre pour enclencher la résistance par friction

et dans le sens inverse des aiguilles d’'une montre pour retourner en fonctionnement fluide. REMARQUE : le
systéme de plaque de glissement fluide est adapté a la plupart des conditions de fonctionnement. L'ajustement de
glissement par friction n’est a utiliser que lorsque qu’une résistance supplémentaire est nécessaire.

o o Placez le contrepoids en position 1 et relachez le verrou d’inclinaison tout en tenant la poignée
panoramique ; inclinez vers l'arriére et vers I'avant pour vérifier si I'appareil photo est bien en position d’équilibre.
Desserrez la vis du verrou de glissiére et faites glisser I'appareil photo et sa plaque de support dans la direction
appropriée pour obtenir un meilleur équilibre ; resserrez alors la vis de I'écrou de glissiére et vérifiez une nouvelle
fois I'’équilibre de I'appareil photo. Si I'appareil est équilibré mais bascule malgré tout vers I'avant ou l'arriére,
sélectionnez la position de contrepoids n° 2.

Options

9 Le goujon du niveau a bulle (13 mm) peut étre enlevé, de sorte que la téte peut étre montée sur des
applications a base plate pourvues d’une vis de 3/8 po.

Rangement et transport
Desserrez les verrous panoramiques/d’inclinaison ainsi que la poignée panoramique et la bride, et placez le
dispositif en position latérale.

Accessoires en option

1204 Plaque de support d’appareil photo (y compris vis n° 493, 3/8 po et 1/4 po)
493 493 Adaptateur a broche + 1/4 po

P0036 Vis pour appareil photo 1/4 po

P0037 Vis pour appareil photo 3/8 po

688 Poignée panoramique standard

681 Ensemble pour poignée panoramique standard (y compris bride de poignée)
P8238 Bride de poignée panoramique

P7850 Ecrou de bride



ESPANOL

Introduccion

Gracias por adquirir el Cabezal Fluido DS10/DS20 de Miller. Se trata de un soporte de cdmara de estandar
profesional que brinda estabilidad, exactitud y durabilidad. El disefio robusto y construccion del movimiento fluido
total se respalda con cojinetes de bolas de precision y terminaciones de calidad, para un desempefio de larga
duracion.

Ajuste del cabezal fluido

0 Para nivelar el cabezal fluido, afloje la tuerca de sujecidn del nivel esfera, mantenga la burbuja dentro del
centro del blanco del nivel esfera y vuelva a apretar la tuerca de sujecién

0 o o Para montar la cdmara, aplique las trabas de paneo y ladeo (pan / tilt), y afloje el tornillo lateral de
traba al tiempo que oprime la perilla gris de liberacion. Fije la zapata de la cdmara a la misma usando el tornillo
adecuado, los tornillos de repuesto pueden guardarse debajo la plataforma de la cdmara. Con la cameray la
zapata en posicion, inserte el ensamble en la parte posterior de la plataforma de la cdmara, hasta que la perilla
de liberacién acople con la plataforma. Deslice la cdmara sobre el eje de ladeo del cabezal fluido a una ubicacion
estable aproximada, y apriete el tornillo de ajuste lateral.

El cabezal fluido DS10/DS20 de Miller ofrece ajustes para el control de arrastre de paneo y ladeo (Fig 3). Rote en
direccion de las agujas del reloj para acoplar la resistencia a la friccion, y en direccidn contraria a las agujas del reloj
para volver a la accion fluida. NOTA: El sistema de zapata de arrastre fluido ha sido disefiado para adecuarse a la
mayoria de las condiciones de operacion. El ajuste de resistencia a la friccién solamente debe utilizarse cuando se
requiere resistencia adicional.

e o Con la seleccion del contrapeso en posicion 1, afloje la traba de ladeo mientras sostiene el asa de giro,
permitiendo que incline hacia atrds o adelante para ver la estabilidad de la cdmara. Afloje el tornillo de ajuste
lateral y deslice la cdmara y zapata en la direccion apropiada para una mejor posicion de equilibrio, apriete el
tornillo de traba lateral y verifique nuevamente la estabilidad de la cdmara. Si la cdmara esta estable pero sigue
inclindndose hacia atras y hacia adelante, elija la posicién 2 para el contrapeso.

Opciones

o La espiga del nivel esfera (13 mm) puede retirarse de modo que el cabezal pueda montarse a aplicaciones de
base plana para tornillos de 3/8".

Almacenamiento y transporte
Afloje las trabas de paneo y ladeo, asa de giro y abrazadera, y coloque en posicién lateral.

Accesorios opcionales

1204 Zapata de camara (inc. tornillos #493, 3/8"y 1/4")
493 Tornillo 1/4" y adaptador de pasador

P0036 Tornillo de cdmara de 1/4"

P0037 Tornillo de cdmara de 3/8"

688 Asa de giro estandar

681 Conjunto asa de giro estandar (inc. sujetador del asa)
P8238 Sujetador del asa de giro

P7850 Tuerca del sujetador



DEUTSCH

Einleitung

Wir danken lhnen fir Ihren Kauf des Miller-Fluidkopfs DS10/DS20. Der Miller-Fluidkopf DS10/DS20 bietet

als Kamerastativ professioneller Qualitat Stabilitat, Prazision und Langlebigkeit. Der robust konstruierte
Fluidmechanismus mit prazise gefertigten Kugellagern bietet hohe Verarbeitungsqualitét fur lange Lebensdauer bei
gleichbleibender Leistung.

Einrichten des Fluidkopfs

0 0 Lockern Sie zum Nivellieren des Fluidkopfs die Sterngriffmutter an der Libelle. Achten Sie darauf, dass die
Luftblase im vorgeschriebenen Kreis bleibt und ziehen Sie die Mutter wieder an.

o o Sperren Sie zum Montieren der Kamera den Schwenk- und Kippmechanismus. Lockern Sie
die Feststellschraube am Schiebemechanismus, driicken Sie den grauen Entriegelungsknopf und ziehen Sie
die Kameraplatte heraus. Befestigen Sie die Kameraplatte mit der entsprechenden Schraube an der Kamera.
Reserveschrauben konnen unter der Kameraplattform aufbewahrt werden. Schieben Sie die an der Platte befestigte
Kamera hinten an der Kameraplattform ein, bis der Entriegelungsknopf die Platte an der Plattform sichert. Schieben
Sie die Kamera uber die Kippachse des Fluidkopfs in eine moglichst gut ausbalancierte Position und ziehen Sie die
Feststellschraube am Schiebemechanismus wieder an.

Der Miller-Fluidkopf DS10/DS20 bietet Einstellméglichkeiten fiir die Ddmpfung von Kipp- und Schwenkbewegungen.
Drehen Sie die Steuerelemente zur Aktivierung des Reibungswiderstands im Uhrzeigersinn und entgegen dem
Uhrzeigersinn, um in den Fluidmodus zuriickzukehren. HINWEIS: Das Plattensystem fiir die Fluiddampfung ist fiir
die meisten Betriebsbedingungen ausgelegt. Die Reibungsdampfung sollte nur dann verwendet werden, wenn
zusatzlicher Widerstand erforderlich ist.

G o Wabhlen Sie fur das Gegengewicht Position 1 und geben Sie den Kippmechanismus frei. Halten Sie hierbei
den Schwenkgriff. Lassen Sie den Mechanismus nach vorne und hinten kippen um zu priifen, ob die Kamera gut
ausbalanciert ist. Lockern Sie bei Bedarf die Feststellschraube am Schiebemechanismus und verschieben Sie die
Kamera mit der Platte, um sie besser auszubalancieren. Ziehen Sie die Feststellschraube anschlieRend wieder an
und prifen Sie die Balance nochmals. Ist die Kamera ausbalanciert, fallt aber weiter nach vorn oder hinten, wahlen
Sie fur das Gegengewicht Position 2.

Zubehor

0 Der Libellenbolzen (13 mm) ist abnehmbar, sodass der Kopf Gber eine 3/8“-Schraubverbindung an flaches
Zubehor montiert werden kann.

Lagerung und Transport
Lockern Sie den Schwenk- und Kippmechanismus, den Schwenkgriff und die Klemme.

Zubehorteile
1204 Kameraplatte (einschl. #493, 3/8“- u. 1/4"-Schrauben)
493 1/4"- und Pin-Adapter

P0036 1/4"-Kameraschraube

P0037 3/8“-Kameraschraube

688 Standard-Schwenkgriff

681 Standard-Schwenkgriff-Baugruppe (einschl. Griffklemme)
P8238 Schwenkgriffklemme

P7850 Sterngriffmutter



3

sere
My

HHEHEMIEMiller DS10/DS20 R JEk, Miller DS10/DS20 R Ek B —ME W irAERBAEYY
G, BE. EmmnE. HigitEN, RETERESHINEN,; BERRTREHAF
BN THIERRINRERTE BT 7= S A RIER{EMERE.

R RESL
O O I TERELFRIBKE, RFRKERZES, FSEMTFSEAFENHNBEES
A, REHEEEIEE,

© O O HTRIEN, BEAEN/MRELNH, NABHPRIBL, BRTRE
BRzdmERA HANEER, FEYrELKENETEEEREMBNL, FHELTA
UERERNTEETE. —ERNNEEREETE, MTEAHRIIENTEENER,
EI BRI ENEERES B FAEBENESFALE. BHEVIBEREXRSREH L
FELHMME, WERSABTE, ARIFEBHHRERL,

Miller DS10/DS20 & EXBEBKERFMIEREZEFIFIRE (E3) . IRt RN EE

SEEEN, EREARNREREES. . REERDRRZNIRIT, EEXSEIRE
FH. EZEENRAE, NixRAEZETSMNENRERTER.

0O O EETEMS1, ERERESNFEMYERGFESS, iLTaEBES S
2, EEENETRETE. RFBHHSEL, BENTNEER BB, )L

EREE—NEFOLECR, AETERHHERL, ERRSENTE. NREN2TE
B, (B EIRTANEE TR, A2 P i 2,

gt

O HokTIRE (13FX) TUMT, XERESATIER/S PLIBLRE,
ER5E

W%/ ARSI RIBE SN FRAET, ARRREINELE.

o] e F

1204 HEMEER (G35 #493, 3/8"F01/4" 1844)
493 1/4" + $HIRIEEL 25

P0036  FE# 1/4"1244

P0037 #H# 3/8"1844

688 FRAERE R

681 FRAERZEWN (BFEMRRX)

P8238 HLAIEMNK

P7850 eiXiZ&}



182 - DS10 Fluid Head

184 - DS20 Fluid Head

=] 1.65 kg (3.6 Ib)
'Y 2.5-5.0kg (5.5 - 11.0 Ib)
-3 60 mm (2.4")
//”0 1/4" + pin, 1/4" & 3/8" screws

@ Constant Full Fluid + Friction Boost

1+ 2 positions

.ﬁ +90°/-75°

ﬂ- -40° to 65°C (-40° to 149°F)

/I‘fl\ @ 75 mm (2.9”)

MILLER CAMERA SUPPORT EQUIPMENT
30 Hotham Parade

Artarmon 2064 NSW

Australia

Tel: +61 2 9439 6377

Fax: +61 2 9438 2819

Email: sales@miller.com.au

MILLER FLUID HEADS (EUROPE) LTD.
Unit 12A, Shepperton Business Park
Govett Avenue, Shepperton

Middlesex TW17 8BA

United Kingdom

Tel: +44 (0) 1932 222 888

Fax: +44 (0) 1932 222 211

Email: sales@millertripods-europe.com

1.70 kg (3.7 Ib)

5.0-10.0kg (11.1 - 22.0Ib)

60 mm (2.4")

1/4" + pin, 1/4" & 3/8" screws
Constant Full Fluid + Friction Boost
1+ 2 positions

+90°/-75°

-40° to 65°C (-40° to 149°F)

@ 75 mm (2.9”)

MILLER CAMERA SUPPORT (LLC) USA
216 Little Falls Road (Unit 15 & 16)

Cedar Grove, New Jersey 07009

USA

Tel: +1 (973) 857 8300

Fax: +1 (973) 857 8188

Email: sales@millertripods.us

www.millertripods.com

D8195-1



